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Child- Centered pedagogy promotes

(A)  Exclusive reliance on text books.

(B)  Giving primacy to children’s experiences

(C)  rote memorization

(D)  labelling and categorization of students base on ability

(u) <Eftm =

- Emotions and cognition are .......... each other

(A)  completely separate from
(B)  independent of

(C)  inter-woven with

(D}  notrelated to

3 TSI B IR | gedl B g 99 Y “weed frgral @ ded §
T RféreeT @1 @ e Anfey ?

(®) w=ai & 34 Regral B e e Ryl
(@) w=a @ <fea v Tfied
(1) AR—ER IR A S 5N TP 96 Rigral @ ‘gga <=1 =nfu)

() ufcrae =101 7d SeTeRvll @1 URKA B geal @ 54 gl @) g
<1 =nfRg)



‘Naive theories’ that children construct about various phenomenon

(A)  should be ignored by the teacher.

(B)  Should be punished by the teacher.

(C)  Should be ‘replaced’ by correct one through repetive memorization
(D)}  Should be challenged by presenting counter evidence and examples,

TREAEIE) € H, IR mefs v Q
(B) I IE B W R

(@) baom W Bfea ¥

(1) srgEuE g i ¥

(o)  ererEieE o5 uftean ux Sfe ¥

In the constructivist framework, learning is primarily

(A)  based on rote-memorijzation.

(B)  Centered around reinforcement

(C)  Acquired through conditioning

(D)  Focused on the process of meaning making

AYearS) Rigral & SuR it @ Ay PrefoReg wemt 3§ & o @
e &7

(F) e qveares Td wRor o isar ¥

(@) S1ieRT F3aq A1 B &) ufden ¥

(31) SIS AR WY B g™ =aER! @ e B

() iftrm wigha fafriem @ g s @) e @ ufsa &

Which of the following statements about learning is correct from a constructivist
perspective ?

(A) ‘learning is the process of reproduction and recall.

(B)  Learning is the process of rote memorization.

{C)  Learning is conditioning of behaviors by repetitive association

(D)  Learning is the process of construction of knowledge by active engagement.
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() =S FN a-fa @ urw sigaiie Wed uEhy (Fe)
(@) wr=ore faeweny

(1) iR 9

(') SERTEHA vd waiawe @ 9 e TRERs

The primary cause of individual variations is

(A)  the genetic code received by the individuals from birth parents.
(B}  the inborn characteristics,

(C)  the environmental influences.

(D)  the complex interplay between the heredity and the environment.

farenfRft ot v Serevyr va IR—Serevu <9 @ @ uRomH 7

(%) I[EuROTHE gRaAl $ Wieaed w3 @ I U8 ue wamaeed e
Bl

(@) vz el o femm 4 wifoal s o B
(1) % sraeRensi B WSt § v Y1 B B

(°) I% QYRS G931 & g Srifa s /afdhaers 9= w ea= Bitad
BT B

Presenting students with clear examples and non-example

(A) is an effective way to encourage conceptual change.

(B) leads to confusion in the minds of students,

(C)  Causes gaps in their understanding of concepts.

(D)  Focuses on procedural knowledge rather than conceptual understating.

fFrferRas 4 @ o9 w1 9o o1 Rrgr= 48 ¥?

(®) e e & §

(@) faor ufkaed @ ¥

(1) fopr emgaRTeran vd vafavel €91 @ g™ gfae e
(u) from arddifie ¥ v wiRgiie ded 3 ywifda =8 x|l



10..

Which of the following in NOT a principle of development?

(A)  Development is lifelong

(B)  Development is modifiable

(C)  Development is influenced by both heredity and environment

(D) Development is universal and cultural contents do not influence it.

farenffat o siftrrs iRt wrieT® & @ g R e d T g

BT YAFT FH N F1 IH1G IS &2

(®) <1eq o 9 S B

(@) onaR® rf=on ged ¥ |

(1) =% g=mi @ yeElF snaiRa |edlt & aom Figear W s 39 @ Rig
HicHIfET B

(u1) rferm + g4t of Wi st wen Rsma o9 2 T

Repeatedly asking students to engage in learning activities either to avoid punishment
or to gain a reward.

(A)  decreases extrinsic motivation

(B)  increases intrinsic motivation

(C)  would encourage children to focus on mastery rather than performance goals.
(D)  decrease children’s natural interest and curiosity involved in learning,

Tiers aeeil 61 St smamoet &) st 3 fru YoR wew o wEd §7
(F) TH AT THY B

(@) IR S Rl @ =raen |

(1) IR-9R GiFF AR D g

() 3ol T4 aRerat & forw sraay Suaer wva |

How can teachers facilitate understanding of complex coneepts in children?

(A) By delivering a lecture.

(B) By organizing competitive events

(C) By repetitive mechanical drill

(D} By providing opportunities for exploration and discussion.
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(%) TiR® g
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(1) e Od A i

(a) RO gaaas geaie

M (i), (if)

2) (ii), (iii)

(3) (@), (i), (iii)
4 (in), (i), (iv)

Which of the following practices promote meaningful learning?

(A)  Corporal punishment
(B)  Co-operative learning environment
{C) Continuous and comprehensive evaluation
(D)  Constant comparative evaluation
(1) (), (ii)
(2) (i), (iiD)
(3) (1), (i), iif)
4 (i), (iii), (iv)

12, en ¥ qReEl & SN T Ries u: wsfsal B gorn § deel w st
T 1 81 IS fheeT Sarevor §7

() visT verur
(@) wiex yga™
(1) iR Hagd
() oISy A9ET

During classroom discussion, a teacher often pays more attention to boy than girls. This
is an examples of

(A)  Gender bias

(B)  Gender identity
(C)  Gender relevance
(D)  Gender constancy
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14.
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(®) SiS-vaar @ IR § gR==f)
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Which of the following is an effective strategy to reduce children’s gender stereotyping
and gender-role conformity?

{A)  Discussion about gender bias

(B)  Emphasizing gender-specific roles,

(C)  Gender-segregated play groups.

(D) Gender-segregated seating atrangement.

ﬁﬁr%rﬁgﬁﬁﬁﬁmﬂﬁaﬁzsﬁerﬁﬁaﬁmtﬁﬂﬁwﬁﬁﬂ;tﬁmﬁé@ﬁ
5V OTa RiIom = wrnifTe Td wivghie awgeil @y B gew Rar?

(®) i o arewm

(@) g arEiewb)
(M) oF e
(&) <N Biora

Which of the following theorists while viewing children as active seekers of knowledge
emphasized the influence of social and cultural contents on their thinking?

(i) John B. Watson

(i)  Lev Vygotsky

(iii)  Jean Piaget

(iv)  Lawrence, Kohlberg
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16.
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(%)

(=)
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Which of the following behaviours characterize the ‘concrete operational stage’ as
proposed by Jean Piaget?

(A)
(B)
©)
(D)

Hypothetico-deduction reasoning; propositional thought
Conservation; class inclusion

Deferred limitation; object permanence

Make-believe play; irreversibility of thought.

Rrevi-siferm wftha # =g saw veeayol § w®ifs:

(%)
(=)
()

(=)

Foraneit v « =hen s e B
TP UIRETOT HTIHH TR U1 Bl 7]

Y ALTTDI g T3S Renef +1 srgenfia 9 o7 38 916 yam
& ¥

et B e - <=1 9 9 & iR - uoR 9 s
Bl

Individual attention is important in teaching learning process because:

(A)
(B)
()
(D)

Learners always learn better in group

Teacher training programmes prescribed it.

It offers better opportunities to teachers to discipline each learner.
Children develop at different rates and learn differently.
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The idea of basic education was propounded by:

(A)  Dr. Zakir Hussain

(B)  Dr. Rajendra Prasad
(C)  Mahatma Gandhi

(D)  Rabindra Nath Tagore

18, T YTl fR1eres Y qora o1 wew wewaqel o
(®) UEN WM vy @1 e s
(W) UP 9& SRS |
()  Frenfa @ W srw away
(") P sl UF

The most important quality of an effective teacher is:

(A)  Deep Knowledge about the subject taught.
(B) A strict disciplinarian.

(C)  Good rap port with the students.

(D) A good motivator.

19. fR1en & S2dl o1 frufzor =i &:
(@) fdumast o
(@) oDl B
(1) Fnenfiai o
(=) AW B



Determining the aim of education is the responsibility of:

{A)  Parents
{B)  Teachers
{(C}  Students
(D)  Society

20. @ FrenfdEi @ R ¥ R 9= v @ forr 9 @ =iy
() TP GHM W B
(@) foenfeai & g & srgar|
(1) @aa gEE ¥ Wi
(°a) TRF © 9 A

To make all students interested in home work, it should be:

(A) ofequal level

(B)  According to the ability of student
(C)  Only from the book

(D)  Out of the book

21, a9y ferami S e S TE R L @ foru
(@) ur el ¥ ReEne) 6 W Tem W)
(@) aror &3 § srest fan yem o @ gy
() wd fRven st &5 i) %)
(u) wmor & H fen | sroerw IeH ¥

Navodaya schools has been established to:

(A)  Increase number of schools in rural areas.
(B)Y  Provide good education in rural areas.
(C)  Complete “Sarava Shiksha Abhiyan”.
(D)  Check wastage of education in rural areas.

{0
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The Schools through its programmes help students to:

(A)  Assimilate culture
(B)  Protest culture

(Cy  Ignore other culture
(D)  Make them cultured

ST 9H B aref B

(w) f=ma=i o1 gumE

(™) S B el BT gHTG
(7T)  HERS 1 99

(a) =9M &1 uaE

Demonstration effect means:

(A)  Effect of advertisement
(B)  Imitating effect of consumption
(C)  Effect of entertainment
(D)  Effect of an experiment

Renel e 29 ¥

(®) vrowe fafy §

(@) @ fafy

() = Y |

(&) weTcas (ar=amur) fafer 9
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26.

27.

Students are passive in:

{(A)  Project method
(B)  Discovery method
{C)  Lecture method
(D)  Inquiry method

TH & 9T P e fbar o &:
(F) T WO ¥

(@) o1« ® B B Y TEW ¥
() fopar 1 3red WA E

(1) soEm af

A field trip is arranged for:

(A)  Making an excursion.

(B)  See other people doing things.
(C)  Note the meaning of action.
(D) Al of the above,

& BRI 39 BT 7 I8 T Rranedi ...,
(®) NN IH T T

(@) TRWRUS ¥

(1) TID! AIED] BT MBI a1 S P
(u) v@gyH @l aned el 8 w9

It is advantage of giving home work that students:

(A}  Remain busy at home.

(B)  Study at home.

(C)  May be checked for their progress.
(D)  May develop habit of self study,

Fiftrm & i 3 e § @ - s wd &7
(%) el &N wiercEl B geiar & i 318 aritem = gen ¥

(@) srftrra <A1 areawer  yaraeTel B € S el @ R e
AHRAS AR I AT B a1 Bl

(1) orfeEmE, I @ fhf) ff YR W e el A gifad w8 2]
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Which one of the following statements is true about “Learning”?

(A)  Errors made by children indicate that no learning has taken place.

(B)  Learning is effective in an environment that is emotionally positive and
satisfying for learners.

(C)  Learning is not affected by emotional factors at any stage of learning,

(D) Learning is fundamentally a mental activity.

af B e a1 e 9 foram ¥ ol e B R A T, @ w9
(®) wdemfEd o @y

(@) <1 a1y W foraarn i)

(1) St wrafiean ot srgafy N Tk

(7) fafee werrer oF ¥ Som oA iy

If'a child writes with his/her left hand and is comfortable doing things with it, she/he
should be;:

(A)  Discouraged.

(B)  Made to write with left hand.
(C)y  Allowed his preference.

(D)  Sent to seek medical help.

afe 3ot wen ¥ forely Renelf ) e o et TR Y9 ey -
(%) Tenedi # wen § saRer 1w 31 B

(@) Sus! Fo® S|

(1) o1 e § X BUS 7 vFT B Rorg aewred Sy

(F)  <EDI IR s T8

If you find a student wearing some odd dress in your class, you will:

(A)  Ask the student not to attend the class

(B)  Make a joke on him

(C)  Counsel him not to wear such clothes in a class.
(D)  Not pay any attention.

!>



30.

31.

32.

el RG] IIeAD] B NI | TS W B Rifs:
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Paly therapy is adopted in the study of children in order to:

(A)  Make the educational process joyful.

(B)  To understand the inner motives and complexes of children.
(C)  Make education more activity centred.

(D)  Highlight the important of play activities in education

T S S o1 3, Rrerrerl @Y sam e R

() =R S A Sl &1 9 F1 & forg I sl e )
(W) TSP 310 AMRS & 0T TFelaa o= 4

(1)  Sif&e o & TN FE |

(a) <=1 gr ofta fAfrs oo e

In a democratic county like India, schools should concentrate on;

(A)  Development of traits to face the hurdles of daily life
(B)  Development of traits of a good citizen ship.

(C)  Preparation for academic excellence.

(D) Inculeation of values cherished by country.

meﬁwwm%ﬁ?fﬁmﬁfﬁmﬁm/wﬁ%ﬁ&ﬂ%:
(®) SUD IR IR S UG
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It can safely be assumed that a student understands a principle when He/She can:

(A)  Give more examples of it.

(B)  Use it in solving problems to which it applies.

(C)  Recognise it again when He/ She encounters it again.
(D)  Recall the principles as and when asked.

a1 : WAt Rerss wf¥terr &) SR v s o weAr R il
(F) weel 9 Sfera wu ¥ SR fen e wftveror Yabw @1 Sui o
(W) U ORI R TTay)

(1) AR W@ s R

(a) widieror & srpads Reameamy s @

The in-service teacher training can be made more effective by:

(A)  Using training package which is well prepared in advance.
(B)  Making it residential programme

(C)  Using co-operative approach

(D)  Practicing training follow-up procedures.

e fenelf o1 s W o ¥ 1 o

(%) @ 4 < Rrenefi st avveren, wfr s o 9 T o T8 Y
(@) et 4 =1 8 o1 W o1 2R &, 97 ¥R e e e wd b
(M) = frenRia & frg ve ww arawreat <iva w8 ¥

(|) e frsren arelt wen % Rienfi Y wfrsii o1 Ry srwive &)

Every learner is unique means that:

(A)  Notwo learners are alike in their abilities, interests and talents.

(B)  Learners do not have any common qualities, nor do they share common goals.
(C) A common curriculum for all learners is not possible,

(D)  Itis impossible to develop the potentials of learners in a heterogenous class.

mwmﬁoﬁﬁmﬁﬁﬁwmmﬁﬁaﬁﬁww
fRreres wem A 4 aman ¥ T Refy § sy e
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36.

37.

Despite of your requests as an incharge of time table in the school, A teacher always
comes late. In this situation you will:

(A)  Insult him in the presence of other teachers.
(B)  Advise him fo come in time.

(C)  Report to the principal

(D)  Remain indifferent to it.

e (uv Se-36—39)
fr=feRaa ST &1 v 9 UQ U9 Y vl @ o g

v qRAR § MN,0,p,Q ST RT: HEH ¥ IRAR # T TRIRGET WIS ¥
N T% SIaURT § den o @1 fie ¥ R, 0 B <ET ¥ 9o uTuel SIeR &1 p, a Bl
) ¥ 3R T el ¥ o, M I A B uRaR ¥ UH =arl, T UIel SIe,
U Afgen waad den 2 et 7
Direction: (Q. No. 36-39)
Study the following information carefully and answer the questions that follow.

There are six members M, N, O, P, Q and R in a family. There are two married
couples in family; N is the businessman and father of Q, R is the grandmother of O;
and is property dealer, P is the grandmother of Q and is a house wife, O is daughter of

M; There are one businessman, one property dealer, one lady lecturer and two students
in the family.

M BT TER DF T ?
(D P

(ii) R

(iii) N

(iv) 0

Who is father in law of M?
(A) P

(8) R

(C) N

(D) O

M BT &1 A 7
0 eul

(i) ICBIRI

(iif) el

(iv) e} SN

16



What it the profession of M?

(A)  House Wife
(B)  Student

(C)  Lecturer

(D)  Property dealer

Q @ 98 P &7
(i) 0
(if) P
(iii) M
(iv) N

Who is sister of Q?

Ay O

By P

€ M

M) N

e i o ) oy W R ?
() MO Td QR

(ii) MN Td PR

(iii) PR Td 0OQ
(iv) MN Td QR

Which of the following are two married couples?

(A) MO TEQR
(B MO TEQR
(C) MO TEQR
(D) MO Td QR

ferchet: (we= o 40-43)
frferiRean westl 4 v i w9 %1 Ry 0 e § ¥ figw sie s S
Direction (Q.No. 40-43)

In the following questions a series is being select from the alternatives the correct term
to fill in the missing term.

7,21, 43, ......., 111,157, 21

G 73
an 71
iy 75
avy 77

1y



41.

42,

43,

44.

6, 24,60, 114, 186, .......

I 276
(an 290
(am 272
(V) 280

7,13, 21,31, 43, .......

M 53
an 55
57
(V) 59
3, 15, 35, 63, ......
@O 69
an 79
(I 89
V) 99

(o . 7. P

Frafafiag @vs &1 yea 3y v go=i @ 9= S|

W, a1, W, Araen SR TR ute e 3 Te @ U B (6) e R
M = 3 i For B <1, e 4 90 when B @ ) wa S 999 e el
<, foree 3 9] T @ ) < Een 3 4 91 e @ ), e 2-2 e
G 3R e B T <
Direction (().No. 44-47)

Gieeta, Sita, Pramila, Bhavana and Nafisa are five friends, Each one of has six balls;
Gita gives 3 balls to Nafisa, who givew 4 balls to Pramila Bhavana gives 2 balls to Sita,

who gives 3 balls to Geeta, Pramila gives 4 balls to Bhavana who gives 2 balls each to
Nafisa and Geeta

IO B U e i 7

)] 4

an s

am 6

awvy 7

How many balls does Nafisa have?
iH 4

gn s

(iii) 6

(ivy, 7
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46.

47.

A dua e AT ¢ ?

0 4
(ii) 5
(iii) 6
(iv) 7

How many balls does Sita have?

M 4
a s
an 6
awy 7

o 91 e w9 e §?

(®) W

(@) -

(1) ¥

(o) wHren

Who have the minimum number of balis?

(A} Bhavana
(B)  Nafisa
(Cy Sita

(D)  Pramila

fhrad IR ae9 ey A w7

(%) wdien

(@) obra

(W) <

(=)

Who has the maximum number of balls?

(A) Pramila

(B) Nafisa
(C) Sita
(D) Gita

/9.



48.

49.

50.

500 Hlo T TH VeFIST, 80 0 Hio &R Wew™ HI 1 o 5 Yo ¥ IR &l
HEGISIEIR RS

(®) 55 fBoHofsio
(@) 65 oo do
(M) 70 fFHoHlofsio
(a) 72 fdoRtofso

A train which is 500 meter long crosses a 800 meter long platform in one minute five
seconds. The speed of the trainis .........

(A) 55 Km/hr
(B 65 Km/hr
(Cy 70 Km/hr
(D) 72 Km/hy

g B Y BT FIR 7:3 T DI Y P POHGS 756 Bl 6 94 A1g
IDI Y BT SR M

(®) 20

(@) 52

(71) 117

(u1) 1339

The ratio of fathers age to his son’s age is 7:3. The product of their ages is 756. The
ratio of their ages after 6 Years will be .........

(A)  2:1
(B) 52

© 117
(D) 139

freil wRlen 1 el & & forg <mam 33% siw =nfen| ve feneff =1 210
3i Trel 3R 7€ 21 371 A ergeivt 8 R g B G i ¥

(&) 700

(@) 600
() 550
(a1) 500



In order to pass an examination, a minimum of 33% marks are required. A candidate
obtaining 210 marks fails by 21 marks. The total marks for examination was ........

(A) 700
(B) 600
© 550
(D) 500

21



51.The set of values of ‘a’ for which x - ax + sin (sin) is positive for all real values of x is
(AR B) (44) (€) (-o0,-4)U(4,0) (D) ¢(nullset)

x & it Il 79 @ f¢ ‘@’ @ W1 BT ATy R X -ax+sin (sing) S99 9FHS €1, §
(A)R (B) (4,4) () (-o0,-4)U(4,0) (D) ¢ (nullset)

X

52 Let flx) = —10
16+
(A ) «fo-)=1 (B)  f)=fox) (€) f+flax)=0 (D)  flx)isperiodicwith period 4.

, then f{x) satisfies

16~
|7+ f )-——--—
e 16™+ 4

(AR +fi-)=1 (B) f=fox)  (¢) fi)+flax)=0 (D) fx)3mad 4 & Hef 3fTeRil
T & |

, then f{x) ?‘T@E CaGIR

2t X +
Letf: - dbyfi) = D Thenf
53.Let f R Rbeafunction defined by fx) - X 110 Thenfis

(A\) one -one but notonto (B onto but ot one-one (C) one-oneaswellasonto (D}  Neitherone-onenoronto

w7+ foram 5 R~ R, T B & Sl fix) = DEXHS g gRaRa g1 f
7X4%2X +10

(A) The B TR+ ITTVIEH T8 2 | (B) aTeBIe® B W] UhH! el 8

(C) ThaI & Ud SITeBTEH © | (D) AT UHD & A Bl STTBES |

54 Which of the following loci of a complex mamber Z moves on the bisector of the second and 4th Quadrant in the argant

plane

(A)iz-2 = z+2l ]z 5= (c) zfng =1 (D) None

frifsa ¥ 9 1 Iy G 2 & Reguy et Feae # B ok el ey @ fgaree R
T E :

(Ayza=ize2ii  (B) |E3|= (c) %=1 (D) T & B T

9/‘)/



o 55- Letd) jsm &) dt. Thend! () equals

1/x

(A) sins (B) 2sin (c) g——sim

Wx
|1 o2 5 ¢ (xc)= (sin(®) dlt. T ¢! (1) TR &

/
(A)sim T X(B) 2sin1 (c)3 5-sint

56. ﬁx[x“cfx swhere [x] denotes greatest integer function is equal to
i
(A1 (B) 3/2 (c)2

,ﬁx("]'d’c’ BT [x] HETH QOIS ot &, aRrEe Y

-1

(A)1 (B) 3/2 {c)2
57 f(e (& + b3) and ab # o0, then the numerical val [ueof & E %- is
(A) greater thanz  (B) smaller than-2 (C)equaltos/a

R (2 +BY =+ B) 3R abso Fﬁg+—b- WWW%‘

(A)2wgers  (B) 23w (C)aRTeR B3/2

58- 3fa +h+c=0and a°+ B+ ¢ =1, thenthevalue of atebiaclis
1 1
(A) 7 (B) 4 () 3

AT athre=odiRats bt ¢’=1, G 2 bie' FTEFE:

1

A+ (B) = (c) 5

59. Theleastvalue of the expression ..mﬁi‘iﬁ‘lm_x Joro<x<n/8
1+ sin (3- 8x)

(A) 4 (B) 2 (c)

o Lo fanax oy 0<x<nt/8 T =T A &:
1+ sin (Z=- 8x)

(A)4 (B) = (¢}

23

( D) None of these

(D) s d®E e
(D) 3

(D) 3

(D) equaltosfs

(D) 1R & 2/
D) <

D) <

(D)8

(D)s



60. The ﬁmcﬁon ﬂx) = (p+3)x +5p,pERis periodic for

(A)novalueofp  (B) exactly onevalueofp (C) exactlytwovalues of p (D)  infinitevaluesof p
5 1) - (p+)-+ 5p, p ER ITn &

(A) p ®1E 919 & forw =& (B) R pa va 7 & forg

() po f &1 A & forg (D)  p erfifde A & forg

61 .Howmanywords can bemadewith the letters of the words “GENIUS” if each word neither begins with Gnorends in S ?
(A)24 (B) 240 (c)480 (D) 504

“GENIUS” ¥Tex & 1erR] & R 21e8 991 T \ahdl &, I1S Ieh Tea A a1 G 9 Yo sl 8 IR T 21 S H
GRUSECIRE
(A) 24 (B) 240 (c) 480 (D) 504

B2.1f x* -2x cos8 +3=0, thenvalue of 3" 2x"cosn@ +1isequal to

(A)cosane (B) sinzng (C) o (D) Some real number greater then o

¥ n -
TS $* -2xcosB+1=0, ¥ -2x"cosnO+1 T AT L& 3

(A)coszn® (B) sin2n® (€)o (D) o9 ar<fds wean
0. e e e e e HPdhns et e
By 8t Ag A FOAVE DN
(A)AP (BYGP (C) 0P (D) Noneofthese
R T HP A A a0 0, 2
TTET aq +ag+agt oty O |
(A)AP (B)gr (c)HP (D) 5778 &4 o1 =)
64.if 2%+ 2Y =2, thenj__i is equal to
(A) % (B) = (c) o (D) All of these
o %o O L S
(A) - (B) () + (IEERE



.65

. 148 T4ax  1ax?
f p=

,then
1+h  14hx  1+hx2

T+C 14cx  1+cx2

(A) pisindependentofx  (B) p={x-2)(x-b)(x-c) (C) p=abex3 (D)  Noneofthese

1+ 14ax  T+ax2
aap:

14 1+hx  1ehx2|

T4C 140X 140x2

(A) pxT o & (B) p=(x-a)(x-b)(x-) (C) p=abex3 (D) g FwE TS

66 Jf fix) =1+232 + 434 +6xOx..... +100x700 i apolynomial inrealvariable x, then f(x) has

(A) Neitheramaximumnor aminimum (B) Only one Maximum

(C) Onlyoneminimum (D) Noneofthese

ARG fo)= 1423+ 4o 46x00.... +100x9° T TR =R x H AgU R, A ) BIR
(A) 7 a1 HEer 3R 1 & e J (B) 4% U& wEem AF
(C)Riw yep = A (D) sWHIFE

67 .Thefamily of lines givenby the equationa(3x +4y+ 6) + b(x +y + 2) =o pass throu gh the fixed point

(A) (-20) (B) (0,-2) (C) (1,-1) (D) Noneofthese
HHHTOT a(3x+4y+6)+b(x+y+2)=o EW@WW%@T@WWWW%@W%
(A) (20) (B) (0,2) (€) () D) s a@E

68.Number of root(s) of the equation: cotex +cotgx + cosecx X cosec 2x X cosec 3x=0 in {0,2r} is

(A) o (B)+ (c) 2 (D) 4
(0,2m) H FHIBRT : cotox+cotax + cosecx X cosec 2x X cosec 3x= 0] HA D! T B
(A) o (B)+ (C) = (D) 4

69.Theimage of the point A(1,2) by the line mirrory=x s the point B and the image of B by the line mirrory=o is the point (Q, [3)
then
(A) U=1,B=2 (B) a=0,B=0 (€) O=2,B=- (D) Noneofthese
G T y=x B BT 3w Alr,2) @1 HRife B 8 3R o7 y=0 & g7 fiivg B &1 it Rwg (o, B) ¥ &t
(A) =1, B=-2 (B) a-0,8-o (€) G-z, B=- (D) w7 ¥ 7 e

'25’



70.The c{ig[t at un[tp[ace inthenumber 2o1g 2020 1 902020795
(A)o (B) g (€)1 (D) Noneof these
i 20192920 4 202020 % gorE v W 3l §
(A)o (B) g (€) (D) 57 & =1 el
71.(bXc)X (cXa)isequalto
(A)abda (B) G bl (c) @b ae ALE
(bX)X (cXa)TRER
(A)[ab cla (B) [a b c]b (c)labce - (D)[abbe
72.[%%(ﬁ+n;ﬂ+ﬁ+ ------ * 57) isequal to
(Ao (B) e (C) log2 (D) /2
[%—w(#-hﬁ%*—ﬁ%*- ....... +"2"1ﬁ") ERT_GF\’%
(A)o (B) e (€) log2 (D) 1/2
73 1etly = f/:os“x cosnx dx, neN Then isequal to
(A) I}f%lnﬂ (8) In= 2111—1 (C) In+In—2= In—1 (D) In"In—2= In~1
afgl, = %jggsnx cosnx dx, neN @
(A) In= | (B) In= 21}1—1 (C) In+ -2~ In—1 (D) In‘In—:z: In—1

74 Thearea bounded by the curve x?/3 +y%/3 = 2231

() % (B) (c) = (D)
qp 3 +y*3 = a3 FRT R 81 BT el B
A = (B) L= (c) = (D) =
75, The defnite integral( | (esy)dedy isequalto
(A)6 o (B) ¢ (©) 2 (D) None of these
e FeTeT ﬁ:c(my)dx cly T AT qRTER §
(A)s @ (©) (D) wvier e

2.6



3
76 The ﬁtncﬁon f(xy S 1 XFO,Y#0 andf(o 0)=0is
ty

(A) Continuousinx alone at(0,0) (B) Continuousin yaloneat (0,0)

(C) Notcontinuousat{o,0) (D)Al

3
BT flxy) =x;?:y6,x#o,y#0 Gﬁ?ﬂo,o) =0 &

(A) (0.0) TR BaeT x F wag (B) (0.0) = Faet y & wam
(C) (0,0) W T (D) =h

77 Ifthematrix A is invertible, then the matrix equation AX =B has solution given as

(A)x=A"B (B) x=AE" (c) x=BA" (D)x=F"A
AN ST AHHON B, 1 SfTegs FHHr AX B weT Bi)
(A)x=A"B (B) x-AB" (c) x=BA” (D)x=8"A

/8.LetA=][a }an ={x],, g andB=Th.]

i be three matrices. Lel AX =B. For B as a zero matrix and P (A) =vank of the matrixA =n

then equation AX=o0 has
(A) Trivial solution only  (B)Non-trivial solution () Dependent solution only (D) None of these
4 forr f6 A=[a. 85 xon X=[%j1 g SR B=[b.] x O SITE 8 | /I £ AX 8. B B I[T aeg® B TR iR

¥ m
3TTeHE Bt ABIE =n T T BT Axco BT
(A) % =5 51 & (B) sres & 2 (C) W B (D) s 9 &g &)

79.Let (a, b) bea pointof the domain of a function fof two independentvariablesxandysuchthatf, = Fand - ngh archoth
differentiableat (s, b). Then
(A fyablsflab) (Bl absfulab) (c) fy@b)flab) (D) filab)=f, fab)
|1 foraT o5 31 <o okt 3Ry & wer £ v (o) wﬁ%ww’éﬁsfﬂ-—mdﬁ, & ST vy
(a,b) TR ST & | 7Y

(A) Fy@b)<f(ab) (B)f@b)-f(ab) (c) Fy@b)=f,(ak) (D) Fcab)=f, fa.b)

80. Thefunctiond defined by d(x;y) = [x-yl, wherex,y €R Satisfies

(A) d(xy)>o (B)d(xx)=0 (C) d(xy)=d(yx) (D) Allofthese
HeATd, S d(xy) = peyl, T8 x,yeR & TR &, Fqw weam &
(A) d(x,y)>o (B)d(x.x)=0 (C) d(xy)=d(yx) (D) Allofthese

2



81 .Let@f—& +j—a%— +E¢% bevector differential operator,and ¥ =xi+ }’ji‘zk then7 ¢ isequalto
(A)1 (B) 2 (c) 3 (D)0

714 foran & ﬁ':?% +J-a%— "'”iaaiz AfEer argehel TETeTe (STRER) & 3R ¥ =xt+ yj+zia 2.a VrauRyE

(A) 1 (B) 2 (c) 3 (D)0

82y =(sin"x)" then (T«xz)g%—x%x)—( is equal to
(A)0 (B) 1 (c) 2 D)y

ﬂﬁ?y=(s[n_1x)2 ar (%2 )dzy x—d— ERERES
(A)0 (B) 1 (c) 2 D)y

83.Let flxy) be a homogeneous function of degreen in two independentvariables x andy, then

(A) x—+ =“f (B) af+y—- (na)f (C) x——+y x—nf (D)x

a)f
A7 T o <1 e = TR x 3R y § |1 n BT AN Gl &, O
F I F 8
(A) x-éz )’ay f (B) x—a£-+ == YlT)f (C) o—,,y+yax }'gc (D)x%c-i- —a{’— 0
84. Theidentity element for the binary operation* defined as a*h = a+b-ab, for all a bER - {1}is
(A)1 (B) -1 (c) e (D)0
a*b = ab-ab T a,bER - {1} ERT TR fg—amemdy Wi @ger sifvem)* & foy aoawe areud §
(A)1 B) -1 () e D)o

85.Let T:R? — R be transformation that votates each point of R* about origin through an angle n/4, keeping axes fixed, then

the standard matrix foﬂ' is

1 KRN
2 2 N2 2 g2 2 J2 2
(A)[__]_m]m (B) LL] (c) [—1 1] D)[1-1
VRN 7Z 72 NN Z I

A BT i TR —R? U6 WU hele & ST 31T o1 ReR e gY R & ude 75 1 o fowg & ame
7 4 PTOT 3 AT &, T T o 70 wanfores Siegg &

1T LA AL L
(A) [*”“* ¥ (B) [;’_:’_] (0) [:i,;”_] (D) ;’_*’]
V2 \f2 N2 2 J2 2 NZRNE

29



" 86.Let O {xy.2)=log (x*+y>+2z%)beascalar functionand 7= xi + y] + zk. Then grad @ is equalto

(A) =7 (B)++ (c) =7 (D) +¥
AT for 7B  (x,2) = log (x*+y*+ 2%) TP TG AT Bt 3R F=xi+ ] + 2k & | T grad ¢ IR B
() & (B) 27 (©) v 0) *v
87.Let ouB,Y bethe angles that a straight line makes with positive direction of axes , then cos’(i?jj&jiio;ggiscﬁg;f } is
equal to
% ®) © % ) %
. . 2 R+ cofY
T fora o5 Ueb wRe YT a1l @ erree Frem @ Aoy e o, 8,y 10T 99 £ 6y o (e
ERICRE
(A) % (B) ¥ (c) % D) 5

88.Theasymptotes of curve (x2 ¥ (x+2y+1)+(x+y+1)=oare given by
(A)x+y+n=0 (B) x2+y2 =0 (C)x-2y+1=0 (D) (e&-y2)(x+2y+)=0

WP (x-y?) (x+ 2y+1) + (x4 y+1) =0 B STw T Fefiepeor &

(A)x+y+i=0 (B) x2+y2 =0 (C)x-2y+1=0 (D) (e-y2){x+ay+1) =0

89.Theangle between the planes ax+ by + az+ d =0 and bx - 2ay+bz+c=oisgiven by

(A) £ (B) ¢ (c) % D) %
HHTAT axc+ by + az+ d =o 3ﬂ'\’bx—2ay+bz+c=o @ T BT BT
(A) ¥ (B) & () (D) %
90.The sequence\[% \[7.,_\/? V7 +\/“7T'ﬁ-, N 74_\/7—_,_"\/-7:;;‘“7—7—- 3 oot is
(A) convergent (B) divergent (C) oscillatory (D) convergentto 7
AP N7, VT VT VT B
(A) srfiramdy (B)srowg=or (c) srem (D) 7 W= arfiramdy

91.Corner point of the feasible region determined by the system of linear constraints are (03), (1) and (3,0). Let z = px + ay

where p,q> 0. Therelation inpand gsothat minimum of zoccurs at (3,0) and (1) is

(A)p=q (B)p=29 (c) 2p=q (D)sp=q
Q@HW&T@WWWW%H#%E#%ﬁWW(0,3),(1,1) 3R (3,0) & | A1 135 2
SIATH HT z=px + qy, Trl%%p,q>o?ﬁp®ﬂ? qﬁﬂﬁﬂmzfﬂwqﬁ (03)3R (I g, R

(A)p=q (B)p=29 (C) 2p=q (D)3p=q

29



92.1f P(A) denotes probability of A, and P(A/B)>P(A}. Then, which of thefollowing is correct?

(A) P(A/B)=P((B) (B)P(A/B)>P(B) (C) P(B/A)>P(A) (D) P(B/A)>P(B)
T P (A),A BT TiRieaT @ Fefia Beat & 3R PA/B)-P(A) AT et ¥ o Wl 8
(A) P(A/B)=P((B) (B)P(A/B)>P(B) (c) P(BIA)>P(A) (D) P(B/A)>P(B)

93. The sohution of differential equation (tan'y -x)dy = (1+y%) dxis
q y -xjdy=01+y

(A) x-(tarly - cc@TY (B)x=(tartly +1)+e®1Y 4k
(C)y~(tar'y -1hexe Y (D) y=(tarily -rcel®Y
SFTE el FHIER (tar'y -x)dy=(1+y2) dxPTEA §
(A) x=(arily -)ecedY (B)x=(tary +1)+ ™Y 4k
(C)y=(tarly ety (D) y=(tarly )@Y
94 The distance between the point (-1, -5, -10) and thepoint of intersection of theline 5-=17 =37 and theplanex-y+z=5is
(A) 13umits (B) r2units (C) 5units (D) sunits
g (+,-5,-10) SR ARerean 2L 2L ol x-y 25 B BEF fag B d B 0 &
(A) 13 518 (B) 12557 (C)5 57E (D) 4 zoiE

95 The area of the region bounded by the parabolas y2=gaxand x2=4byis
(A) 16a2sq units (B) 8a2sq units (C) 16a%/3squnits (D) 42%sq units
WRAe! y2=4ax AR x2=4by SRR &5 7 &5l 8
(A) seraized  (B)sewigwd  (0) wapwE (D) 4wz

96.The approximate percentage change in thevolume V of a cube of side x cm caused by increasing the side by 1% is

(A) % (B) 2% (c) 3% (D) 4%
x em Y[SITATe] EF o ST # ST wftvered Uik e Yoir  gie 1 wicrerd ETi T, §
(A) % (B) 2% (c) 3% (D) 4%

97.Theequation (£2°'9 -2020) x?- 22779 xx + (292 4 2020) =0 hasroots as

A - &2‘2019 + 2020 B 1& 22019 4+ 2020 C). _ 22019 + 2020 D o, 22019 + 2020
( ) 22019 - 2020 ( ) 22019 ~ 2020 ( ) 1 & “"""’—‘22019 - 2030 ( )'i & '—"22019 - 2020

FHBTT {299 12020) x2-72°20 x x + (2279 4 2020) =0 o1 &

2019 7919 2019 2019
g &Z T +2020 1 & £ +2020 g + 2020 ~ + 2020
(A) 22019 - 2020 (B) 22019 - 2020 (C ! & 22019 - 2020 (D)T & 22019 - 2020

<40



 98.The system of equations 2x; -x, = hand -6x, + 3x, = k is consistent, then hand k satisfy

(A) k=-h (B} k=3h (C) kz-sh (D) k#sh
Wfﬁi”uﬁnfxz:h AR ~6x1+3x2=k3ﬁmmﬁ§,ﬁ§fh 3R k T B &
(A) k=-3h (B) k=3h (C) kg-sh (D) k4 sh

99.1Let T:R? —R2 bealinear transformation such that T(1,2) = (2,3), T(1,0) = (1,4), then (5,6} is

(A) (6) (B)(-1.6) (€} ¢-6) (D) (6,

A1 T 6 TR — 7 v YWRaes SUreor 56 HER £ 75 T0,2) = (23, T00) = (04, 1 T(5,6) 8

(A) ¢6,1) (B)(-.6) (€) G-6) (D) (6.-)
100.Thevalue of sin®2020 + cos?2020 isequal to is

(A) (B) 20200 (C) thedigitatunitplaceof number1g?® (D) Allof these

5?2020 + c0s>2020 ST AT IYEX &

(A) 1 (B) 20200 (c) W=19™% 3o WM W aiw (D) T &
101. Mole-fraction of the solute in a1.00 molal aqueous solution is

(A)0.0344 (B)1.7700 (c) 0.1770 (D) 0.0177

1.00 HreTel STeltT fera & fyer o7 Arer—mre &

(A)0.0344 (B)1.7700 (c) 0.1770 (D) 0.0177

102.The equivalent conductance of Nacl at concentration C and at infinite difution are A, and A, respectively. The correct
velationship between A anda, is (wheve the constant Bis positive)
(A) re=he-(B)VE (BIrc=he+(BWe  (C) A=A+ (B)e (D) A=A~ (B)c
C AT AT ST TIAT WX b Nacl FHGE TeTehed HH: A, 20 AL &1 A, T A B AT e UE ¥ (TE

Reri® B eTerap &)

(A) A=A -(BlWe (B =hc+ (BIe (C) A=A +(B)e (D)Ac=Ae-(B)e

103.Twofaraday of electricity is passed through a solution of CuSO4. The mass of copper deposited at the cathode (atomic mass
of Cu=63.5amu)

(A)ogm (B)635gm (C) 2gm (D) 127gm
Cusoﬁﬁﬁrmﬁﬁzma%ﬁgaww%ﬁaﬁﬂ@rl%mwgaﬁmaﬁw%
(CuhT URHTY] F& = 63.5amu)

(A)ogm (8)63‘58111 (C) 2gm (D) 127 gm

31



104. Which one of the following is an amphoteric oxide

(A) ZnO (B)Na,0 (c) so, (D) B,0,
fyfofad 3§ ¥ B SyaeHT ifeargs 87
(A)zno (B)Na,0 (c) so, (D) 8,0,

105. Which of the following is dependent on temperature?

(A) Molarity (B)Molefraction (C) Weightpercentage (D) Molality
fopferfae # & @19 a9 W Rk 27
(A\) wrerar (B)== fi (C) 9R miaera (D) Hrererar

106. Recluction of aldehydes and ketones into hyc{roca*rfoons using Zink amalgam and conc. Heliscalled ?

(A) copereduction (B) Dow reduction (C) Wolf-Kishner reduction(DD) Clemensen reduction
57 STFETTH 3% g Hel & Afessss Ud S &l BTgs e 3 STIee hael &7
(A) T 3geg= (B) Sa su=r (c) gew—fper erer(D) Hem=a s

107. Which base is present in RNA butnot in DNA?

(A\) Uracil (B) Thymine (C) Guanine (D) Cytosine
ot 3 9 B @R RNAH SuRRera € aifi DNAH =1 87
(A) e (B) emssm (c)var (D) wrgeim

108. Silver mirror test is given bywhich one of thefollowing compound ?

(A\) Acetone (B) Formaldehyde (C) Benzophenone (D) Acetaldehyde
foret 3 % oy 2iifiras TRy ToTer e wRavT {3 el 27
(A) e (B) wrifeegtergs () doi fiotT (D) WRefeezms

109. The oxidation number of cobalt in k[CO(CO4)] is?

(A) + (B) +3 () = (D) s
L[CO(CO4)] & BIaTee T STARIHRT AT &7
(A) = (B) +3 () - (D) s

11o- Thenumber of ionsproduced from the complex [CO(NH,) 6] cl, insolutionis?

(A) 6 (B) 4 () 3 (D) 2
farera = wwat [CONH),] ol ¥ ST ST WY HeAT 7
(A) 6 (B) 4 (€) s (D) =

7o



| " .n. Thevalue of Bohr Magneton ( Hg)is

(A) 9.27x10% Am? (B) 9.27x10% Am? (C) 11.27 X10°* Am? (D)n.z';’)l(w'24 Am?
R HHEH () HTAFEE
(A) 9.27x10% Ane? (B) 9.27x16%2 An? (C) n2yx15? Am? (D) n27x10% A

nz. fais the degree of dissociation of Na, SO ,.» the Van't Hoff factor (i) used calculating molecular mass is

(A) 1+a (B) 1+ 0 (C) 1420 (D)1—20c
A Na, SO, & RIS a1 7131 o 21, T 319 9R &I IO B3 B g wger arve—gies o () &
(A) 140 (B)1-+o (C) T+20 (D)1—2a

13. Theunit of first orderrate constant s

(A) conc. time™ (B) timecone.™ (C) time™ (D) time” conc.”

merH pIfe @ o Rerics o1 g &

(A) T HT (B) wma g ' (c) we (DY | wrgor
114. Calciumacetate on dry distillation gives

(A) Formaldehyde (B) Acetaldehyde (C) Acetone (D) Noneofthese

Sfeugd T Ih e R T 8

(A) wrifesererss (B) frefeserzs  (c) Tefe (D) =7 &g =&
15, Onpolymerisation acetylene gives

(A) Benzene (B) Toluene (C) Mesitylene (D) None of these

URNEel & ageiiavor & a9 &

(A) d5i= (B) crgga (c) #=fifeet™ (D) s 1S 18
e R-Xo+2Na+ RXAXES R 2 2NaX Thename of reactionis ?

(A) Williamson (B) Wurtz- Fitting  (C) Sandmayer (D) Wurtz-reaction

AT R+ 2Na+ RS RR 4 oNaX o7 T &

(A) fafesrm=m (B) Egaifsfer  (¢) dveir (D) g1 srffepan
17. The gasleaked from a storage tank of the union carbide plant in Bhopal gas tragedywas

(A) Ammonia (B) Phosgene (C) Methylisocyanate (D) Methylamine

(A) s (B) wr=i= (c) Pz amgdee (D) A e

373



8. Theunits of ionic product of water (Iw} is

(A) mol™ litre® (B) mol' litre2 (C) mol? litre”
STel & ST OEHS & 3HTS &
(A) =rat” eex” (B) wrer’ ofrex” (c) Arer” dex”

9. Thenumber of unpaired electron present in Fe* ion is

(A) 4 (B) 3 (©) s
Fe™* &1Ta # Sufera SIgfd Telag ™ & weT 8
(A) 4 (B) 3 (©) s

(D) wmol? litre>

(D)7ret” efrex”

(D)s

(D)s

120. The energy of an electron in the first Bohr’s orbit of hydrogen atom is -13.6 ev. The possible energy value for the first excited

stateis

(A)-3.4ev (B) -4.2ev (C) -68ev

(D) +6.8ev

ETSSISTT URHIY] 5 T Bel H Uelag = &) Soll —13.6ev & | HTH SUTST S1awel & oy ST Srotl 91 8—

(A) -3.4.ev (B) -42ev (C) -6.8¢ev

121. Which expression represents de Broglie relationship
(A) dy=p (B) A= (©) A=

B T ATh SI—Fi7ol] HaeT BT FATIAT 87

(A) =P (B) A=t (c) A=np

122. Howmanymoles of electrons weigh one kilogram?

(A) 6.023x10% (B) 9.1108 x10% (c) __5?3% X 1054
fopat Tl Selgg = T IR Uh fhamm 87 |
A) 6.023x10% B .1T08 x10" c) Doz x 1054
? 9.108

123. Which has most stable +2 oxidation sate?

(A)sn (B) pb (C) Fe
feparepT +2 ffeRfrerTor argven Waifds wermll 87
(A)Sn (B) pb (C) Fe

24

(D) +6.8ev

() -

(D) Nore of these

(D) s A &Iz 7E



| " 124 Which has minimum bond length?

(A)C-C (B) C=C
foerepT Gt oraTe =g 7
(A)C-C (B) C=C

125. Themolecule that has linear structureis ?

(A) CO, (B) NO,
arop frRyast ¥Raes G 27
(A)CO, (B) NO,

125. Themolecule that has linear structure is ?

(A)CO, (B) NO,
3] FoRTesT ¥Rge W 87
(A)CO, (B) NO,

126. The dimensionabcormulaforthe actionwill be ?

(A)MLT] (B) MLT]
feban @ ferg fafrr < grme
(A)[MLT ] (B) MLTY

(c) C=C

(c) C=C

(c) SO,

(c) SO,

(c) ML*T ™

(c) ML*T)

( D) None

(D) &7 & o1¢ &

(D) SiO,

(D) SiO,

(D) SiO,

(D) SiO,

(D) ML

(D) IML*T ]

127. There are n coplanar vector each of magnitude v. Each vector is inclined to the preceding vector at an angle 2n/n, The

maghitude of their resultant is

(c) v

(D) o

nwm%mﬁmmwvémmmmmﬁmmwgmw%;

(A)ny (B) vin
X% UROT &7 uRkErer &
(A) v (B) vin

(C) v

(D) o

128. Aparticle has a displacement of 12m towards east and sm towards north and finally 6mvertically upwards. The sum of these

displacementsis

(A)13m (B) 23m

(c} 10.04m

(D)14.31m

T U1 T fARATTT IR o1 3R 12m 2 3N 5m TR 1 3R, 31T i1 F SR 6m & | 377 Rreerasi a7 drrpet &

(A)13m (B) 23m

(c) 10.04m
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129. The horizontal range of a projectile s 4+/3 times of its maximum height, The angle of projection will be

(A) 30° (B) 37 (c) 45 (D) 60°
T AT T SRS IR S TG $ATg BT 4+/3 0T &, WY BI0T T
(A)30° (B) 37 (c) 45 (D) 60’

130. The acceleration of an object moving inacircle of radius Rwith uniform speed Vis
v v o? N1k
(A) ® (B) X €)1 (D) ®

e T, T YT T U FAMEY ATe V' R el 90 W gA e 8, ¥

A) T (B) X ©) ¥ o) %

131. Amovingparticle of massmandvelocity v has amomentum p. The kinetic energy of theparticleis
3 2 9

(A) & (B) (C) (D) o

2m

AT m 3R ATy TTel TARMT H9T BT A Tp € | HIT BT Ilerst ool 8

(A) & (B) b (C) & D) &
132 The angular speed of aflywheel making 120 vev/min s
(A) ram (B) sn (C) n (D) 4n
120 rev/min ST TRIUTCIE =I5 BI BIvY iy §
(A)zm (B) sn (C) on (D) 4=

133. A bomb of mass g kg explodes into two pieces of mass 3 kg and 6 kg. The velocity of 3 kg mass is 16m/s. The velocity of 6 kg
massis

(A)4dm/s (B) 8m/s (C) 16 m/s (D)32m/s
9 fFoliTo T TH 99 G 3 fhollTo 3R 6fFolTo & TT st H We TN & | 3 fholiTo T4 dlel Chs I
T 16 | /o B | 6 TEHoTTo T &7 4T &

(A4 m/s (B) 8m/s (C) 16 m/s (D)Y32m/s

134. Moment of inertia of a hollow cylinder of mass Mand radius r about its own axis is

(A) g1 (B) (C) T (D) LM’
O 1T F g MR Bt v aret U Wt Ricisy &1 Siecd ol 8 -
(A) M (B) M (C) o™ (D) M’

B6



" s IfMis the mass of the earth and R itsvadlius, the vatio of the gravitational acceleration and the gravitational constant is
2

(A) & (B) % (C) me ©) ¥

I gedt BT g M siR = R BT 1 o RoT Y [ 37 BT ST R -

(A) R B) % (C) ye (D) M

M R R

136. The equation of aparticle executing SHM s %:vxf +16x =0 . Then the time period of the body i

(A) 3 (B) 2 (C) = (D) 2=x

SWW&HWWWW%HGx@%EWﬁW%i

(A) /3 (B) 2 (C) = (D) 2n
137. A spring of force constant kis cut into three equal parts. The force constant of each partwould be

(A) k/3 (By 3k (C)k (D) 2k

ﬁ‘maakav‘rtﬁﬁwﬁ(%ﬁﬁ)aﬁfﬁ?awwﬁfrqncﬁmmm%ﬂw&mwwwﬁwaﬁm

(A) k/3 (B) 3k (C)k (D) 2k

138. An ice-cube of density gookg/m®is floating in water of density1000kg/m’. The percentage of volume of ice-cube outside the
wateris
(A) 20% (B) 10% (C)80% (D) 90%
gookg/m® T BT IFEH—RIY 1000kg/m’ BT ATl U F R e £ | U @ 9re AMFA—FYT & 3T B
mferere &
(A) 20% (B) 10% (C)80% (D) 90%

139. Atwhat temperature is the root mean squarevelocity of a hydrogen molecule equal to that of an oxygen molecule at 47°c?

(A) -73k (B) 3k (C) 20k (D) 80k
47°cwaﬁﬁﬁaﬁaqa%aﬁmﬁma§r$waﬁgmqmmaﬁ—wﬂaf%rmammwzﬁ?n%‘?
(A) -73k (B) 3k (C)20k (D) 80k

140.Two traveling waves Y, =Asin [k(x-ct)] andy, =Asin [kix+ ct)] are superimposed on string, The distance between adjacent
nodes is

(A) o/ (B) cfan (C) kfan (D) w/k
a*mf%reﬂaawﬁx =Asin[k(x—ct)]3ﬂ?y2 =Asin [k(x+ct)] 1 RgT IR s 9T ) Wﬁﬁwa}éﬁ'ﬂaﬁﬁﬁ%\
(A) o/x (B) cfon (C) kfan (D) w/k

3%



141, Two charges are at a distance d apart. If a copperplate of thickness d/2 is kept between them, the effective force will be

(A) Fl2 (B) J2F (C) oF (D) 0
S Y AR IR & | IS I 2 d/2 HIeTS BT I BT wle I S, O HHTE 9o BT
(A) F/2 (B) ver (C) #F (D) o

142, Electric filed and current density have relation

(A) Eoc] (B) Eoc—j— (C) Eocﬁ (D)EQOC“:;“
forera &1 &R ey e # Haw ©
(A) Eoq (B) Eocy (C) Eec, (D)E'oc

143.Acyclotron can accelerate

(A) o-particles (B) B-particles (C) highvelocity gammarays (D) highvelocity x-rays
AT FATSI ol B AH 8

(A) oot &1 (B) n-moiiar  (C)ww i fexoii (D) o v x et

144.A certain amount of currentwhen flowing in aproperly set tangent galvanometer produces a deflection of 45", If the current

be reduced by a factor of /3, the deflection would
(A) decreasebyso” (B) decreasebyis®  (C)  increasebyts® (D) increasebyzo°

wret eI O U Wi el (@7e) &) a7 Farfad @ ST B |59 4571 g UeT Bl § | Al
foTeh (YT) T WATE /33 T[0T & HH B a1 s a1 gebra & e aRdes 211 |
(A) 30° T Bl ST (B) 1 A Er ST (C) 15° 9 S | (D) 30° % SR

145. The quantity that remains unchanged in transformer is

(A) Voltage (B) Current (C)  frequency (D) Noneof these
SIBTER ¥ aRadeiia w8
(A) drecar (B) gt (C) eyl (D) 571 1 w1y 81

146.An electric heater rated 220v and 550w is connected to ACmains. The current drawn by it is

(A) 0.4A (B) 0.8A (C) 1.25A (D)2.5A
T 220v 3R 550w BT TG fFeX AC 7 & SIIST AR & | §H §RT ol T8 ONT &
(A) 0.4A (B) 0.8A (C) 1.25A (D)2.5A
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) 147.Avay of light is incident of ap[anemirror atan angle of 60°. The angle qf deviation produced by themirroris

(A) 30° (B) 60° (C) 90’ (D)120°
STEBTRT BT RV 60’ & BIOT IR HHeTe THOT 9 STUfer S1eft & | 97 gRY oo forererT &t T
(A) 30° (B) 6c° (C) 90° (D)120°

148.The bending of beam of light around corners of obstaclesis called

(A) veflection (B) refraction (C) diffraction (D) mterference
ST @ BIHT & 2R SR THTET B §H B e T HET ol &
(A) watw (B) st (C)  fauris (D) =fto(genin)

149.An electron of mass me and a proton of mass my aremoving with the same speed. The ratio of their de-Broglie’s wavelength
Aefhpis

(A) 1 (B) 918 (C) 1836 (D) 1/1836

ST e T TRAARIT S ST nyy BT WISH AT 37 G VT 8 | §770b & A 22 7 SIanel Defhp
(A) 1 (B) 918 (C) 1836 (D) 1/1836

150.1n a transistor, the base is

(A) aconductorwith high conductivity (B) aninsulator

(C) anextrinsic semi conductor (D) an intfrinsic semi conductor
ziforex ¥ amr &

(A) S=a AreTPHar arer arerd (B) tew oo el

(C)argz arg =rers (D) arieR a1 AT
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